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Proving Lines Perpendicular

1.
Given 
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4, and 
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3, prove that 
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2.
If 
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ACB, prove that 
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3.
Prove: The bisector of the vertex angle of an isosceles triangle is perpendicular to the 


base of the triangle.
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4.
Given m
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ADC = 3x + 18 and m
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CDB = 4x – 6.[image: image40.emf]
a.
Find the value of x.

b.
Show that 
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5.
If 
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, m
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ADC = 3x – y, and m
[image: image28.wmf]Ð

CDB = 2x + y, 

find the value of x and the value of y. 

6.
If 
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, m
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CDA = 7x + y, and m
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CDB = x + 4y, 

find the value of x and the value of y.
7.
In ΔRST, a line drawn from vertex R intersects 
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 in B.  If m
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SBR = 
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x + 30 and 


m
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TBR = 4x – 70, show that 
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 is an altitude in ΔRST.
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